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function [tout, yout] = ab5semn( Funlien,t0,tHinal step,y(0)
% nh5sem.m Costant Stepsize
%, Adams Bashforth 5 step Explicit Method order 4
% calls rk4 for 4 steps
bets = [251 -1274 2616 -2774 1901 1/720;
stages=5;
[tout,yout|=rkd(FunFcn.t0,t0+(stages- 1 )*step.step,y0),
tout=tout( I :stages);
yout=yout{ 1 :stages);
fout=feval(FunFen,tout( | :stages),yout( | :stages));
1 = tout(stages);
y = yout(stages).",
% The main loop
while abs(t- tfinal)> le-6
if t + step > tfinal, step = tfinal - t; end
y=y+step* beta*[fout(length(fout)-stages+| :length(fout))}:
t=1+ step;
f=feval(FunFen,t,y);
tout = [tout; t];
yout = [yout; y.'J;
four= [fout; £.']:
end,

function [tout, yout] = pe5(FunFen,t0,tfinal step,y0)
% Costant Stepsize
betap = [251-1274 2616-2774 1901 ]/720;
beta= [-19 106 -264 646251 /720,
slages=5;
[tout,yout]=rk4(FunFen,t0,10+(stages-1)* step.step,y0):
tout=tout( 1:stages),
yout=yout(1:stages);
fout=feval(FunFen,tout( 1 :stages),yout(1:stages));
t = tout(stages);
¥ = yout(stages).",
% The main loop
while abs(1- tfinal)> 1e-6
if't + step > tfinal, step = tfinal - t; end
yp=y+step* betap*[fout(length(fout)-stages+1 :length(fout))];
t =1+ step;
fp=feval(FunFen,L,yp);
y=y+step* beta*[fout(length( fout)-stages+2:length(fout)); fp]:
f=feval(FunFcn,tv);
tout = [tout; t];
yout = [yout; ¥.'];
fout= [four; £);
end;
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%  stifl problem B.m
function yprime = {3(L,v),
yprime=5*exp(5*t).*(y-1)."2+1;

% stiff problem Bitrue.m
function ytrue = Btrue(t),
yirue =t-exp(-3*1);

Dabata%e et e % et e e bt e e e e
% run3iplm %o
S i e S A N R N I A A Y

clear all

clf

hold off

% initialization

t0 = 0; tfinal = 3; y0 = -1,

tol = Je-2;
[toutl, youtl] = fk45{'f3", 0, thinal, y0, tol);
err] = abs(yout] - f3true(tout1));

ol = le-5;
[tout2, yout2] = fkd45('13", 10, thinal, ¥0, tal);
err2 =abs(yout2 - 3true(tout2)),

ol = le-§;
[tout3, yout3] = frk45('13', t0, thnal, y0, tol);
¢rr3 = abs(yout3 - Strue(tout3));

plot(toutl -log 1 0(err]),'—" tout2,-log | O(err2), '+ tout3 -log | O(err3).'o')

Eparnua 4"

%% %% %% % Y% % Y %o % W e
%% run34pl.m %%
%a%u % %6% %000 % e %0 %0 v e %% be b e e

clear all

format long

elf

hold off

% Inalization

0= 0; tfinal =3, y0=1, h=0.1;

[toutl, youtl] = ck4{"[0', 10, thnal.h,y0);
err|= abs(yout| -fOtrue(tout1));

[tout2, yout2] = ab5sem(f0', 10, tfinal h,y0);
err2=abs(yout2-fOtrue(tout2)),
tout3=tl:0.01 ;tfinal;

subplot(2,1,1); plot{tout] ,youtl,'+' tout2,yout2,- tout3, vout3, 'o");
subplot(2,1.2); plot(tout] -logl O(err! ).+ tow2 -log 1 0(err2).'x";
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